JKTEBTT (BAL) FREINH R

TiH 4 FR: AR

T H i

TH AL (B MILETE b

FEH]:

Bz OISR HZ OB HIPE 05 = HUTTE
i H#: 20224125 12H

AT CRAD ST SR T ST 5 B T 7 HESCIA 1l 26 5 A 2

# A H # A H # A H



HHEAER

I H A FR HAF K I H RS — 2RI H Zwhg 421381231710030000101
— I H 4R HRBURHUTE > HUTH 251 S1I-AZ 7 T H 5 H 5
T H 22 HEA 01-H I H T H & 01-Fr& T H FEME 12— A %
FREE] ”kr§$%Mﬁﬁ LRy T FR AR MO001- 9 5E X
I H UG 2023 I H R 54F A3 le 5 =0 - &%
ey e I e %
& BRI H 4 T IE R & F: m) BT
El 4 %
- %5 AR LR BRI T
’ﬁ‘ﬁj‘z:
5T NHTE I 432702 BT H MILETE % #1255
BRI o TS v Fo P g~ = 4
& 7 AR A 4 TR GRL & i H B (o) 29400500
JG)
RS ZE SRR R SR T N — B8 51 4, $Rm A= Lg Bt . s &R B BB 4
Tji H ik K, AV RE AT A, AT LA 5] BE 2 B Ak N A R, A AATREAE S T TR0, b B AT ) LE AN
BEN, Wb THEAaERNEK.
T H skt 77 &
— MR A

e & 57




I H W E R (BAAR)

4 e b e o | W% %% . "
P |l | SRRSO | St o |ibRet) ibmg | Ton | R e R
I\QOOI —HE 929400500
Rhid FE T RIFRHE 70000 I 50 3500000
NRTEEE,
R EE PR 70000 i 50 3500000 FECR (2021) 6%, FITAEMLIZA, ST
BB M TRIbRTE 70000 ] 12 840000
R A g iy [ bt 600 Ik 800 480000 PR (2021) 65, FTBE X LS B A BT
it % B T30 76 4 AT U 600 SEJ K 1200 7920000 BT, BTN 600 0EE K, Z12000°F 52K
il % -+ g |75 il b 13 Ik 60000 780000 PE% (2021) 6%, TR K -EHT AR T
LA LT R 13 Tk | 40000 520000 IITRTR, K107 IK
EA BN THRIFRHE 70000 H 36 2520000
S JTBUR {20213 6%5, FEHTiG e A Tk 30 H [E e
i (YN TRIFRTE 70000 T 30 2100000 FrE R R AL3000 77 o N R M BL_ B Al FlE 2 5)
o VT LARR, ZI96TT, 6725 L
TERERH THRIFRHE 70000 H 30 2100000 o . . &
=57 THRIbRME 96 RPN 10000 960000
R YA o1 A THRIFRHE 96 Tk 15000 1440000
Ay B AR JTBUR {20213 6%5, FEE G e A M Tk 30 H [ e
e 18 52 IR A T RIbRTE 96 RPN 15000 1440000 FE R AL 3000 o N M BA_E R Ak, Ak 5
T - ) 96 TCRET-K, 29673 77K
Tl bR HL ) THRIFRHE 96 Tk 10000 960000
275 AR THRIFRHE 96 RPN 10000 960000
BN RE THRIFRHE 5% Ju/ 20000000 1000000
=37 T RIFR 1 5% JC/ 5000000 250000
ﬁil&ﬁf‘ﬁﬁ%‘é KEHBK R o oA 3500000 175000 JTBUR {2021} 65, JUApkE {2022} 35, HT4A
il 4 =T B 5% o4 3000000 150000 MRS TR, %A OB 5% A AN 45 Ak
R YA o1 A THRIbRvE 5% Ju/ 6000000 300000
] T RIFR 1 5% Ju/ 600000 300000




AT R H GRS %5 AL It 2 1 237 Rk 1T

TR LAEZ 9 Tl riE 200000 1 200000 JeIL1277, ZEMRRLI200 NIRAI8 T, TiT4HsZK Ak
& X
it g -l 800000 1 800000 ?é"l‘%w\%ﬁﬂ*zu&%% @éﬁrﬁ&iﬂ%i‘iéﬁ%
TN R 2 T pRiE 800000 1 800000 %/l\%I’AﬂfJ\%EIiF%llﬁéif\gﬂ%ﬁ{Elkﬂmﬂﬁ@z\ﬁJ?ﬁé\lﬁé’a
TEME R A R AR 80000 H 15 1200000 I Ik (;3:0)%1;& %?7?72{:*,1%@12\0%@@&%@
- KRR RRG 2 | TR bR 50000 ) 15 750000 fﬁﬂzbﬁk;g%}%zgg;%%*igf;iiﬂm%@
& SEFRA | RARE 30000 i 15 450000 Il (202%1377?%?5,;:?5,%%3@4?%@
fiESB AT il 2500 H 15 37500 % P/INELAE MU 2 BT 2500 70+ 15 T =3. 7577
B 5 B THRIARHE 72000 1 72000 ¥ 22 P/INVELAAIE H 54 3 B 240 5 1RI3%=T. 215 7T
JIEHh i 2 2 THRIFRE 96000 1 96000 ¥ 22 P/INVEUAAIE H 54 2 B 240 5 1R14%=9. 6 15 7T




S T RIR

T

HRE (o)

Bz (o)

2023

29400500




IS A b

LG H b

S HIRR

AN et Al 2 SRR B B e A T — DR O 5L Rm b g AR
B BB e nh, (bR ar st g, ) AR S| 5E 2 AN A A Mh R B AR R S

Fogtoll, e B s ) LA BN, b Tk e ARE R R

XAl A A
i NATTREAESKT]

AN e Rt Al 2 SRR B B e A T T — DR O 5L Rm e g AR
B BB L, (e Edr st g, ) AR 5| 5E 2 AN A A Mh R B AR R S

Fogtoll, b B s ) LA S BN, b Tk e AR R R

Xf Al A A
i NATTREAEST]




ISRUNTY €L

IR 2023

SUBIRIR R

2 b4 2023

. ; W | B | en | g | | RS SRERERE | S0t
1 7= R b
H e
BHE M, AR TEM IS A A A = 112| 5 TR e
il X S RS RL S oy GE IR H 3 TR = 800[ 75 >k THRI bR e
Pel X Al i A il CRER P H A 33 TR = 1200[F 52K THRIbRAE
el [X 75 b = Hb P B i AR = 61 iJ5 TR E
[l [X.8 5 4= b P B AR = NHT TR E
Al i 2 4 i 5 4 = 3K TR E
Al s LD = HES TR E
S T ik 22 il £ b 6l % TR E
B A b = HE TR E
% P/ AR TR = 15| B TR E
% PN R T E AR = 44 TR e
JAETE bR
Tl I AiEHh 52 i > 95 % T RIAR
I7e] X e 2 18 it 8 5 J e > 95 % Al
Bl (X + 4t 1 52 R > 95 % TR e
i i s R 48 i 2 B 4 RO = 95 % THRI bRk
el S RN R > 95 % R bR
BRI & R R > 95 % ke
B LA R > 95 % TR E
% DA INELI LM 52 A > 95 % vHilb

I R br




e AU ] = 2023 o
AT bR
EHR M, AT, IE IS AR A = 784 JiJt TR E
bel X SRS IR A (EK . BLR) = 120{ /i 76 TR
[l [X. 75 3 = b P Bl A = 78| it TR E
[l [X.8 -5 4= b P Bl A = 52| it THRIbRAE
A s i B 4 A = 672\ it THRI bRk
Al o R A I A > 576| i TG P alliis
A AT A N AR A S = 217.5| i7T TR e
A 0 H A = 20| /i 7t THRI bRk
% P /INVEELI H A = 420. 55| /3 76 THRIbRE
L2V G R =
BH&AERL > 1500 /i 7t R bR
EZRAERLL = 1500| i TG THRI bRk
B RN > 2007358 TRk v
bl X 75 4E Bl = 1500] /3 ¢ THRI bR
bl X 8 5 4E Bl = 1000] 73 7¢ THRI bR
i i A DRAF AR = 400 it THRIbR
il 5 HL SRR = 300| i 7G THRI bRk
TEEFR AR B = 300| i TG TH R bR
B BEAE B = 2500 /i 75 THRI bRk
| IR ERIN = 300]JiJt TR E
SRR B > 600| /3 7C T RipR
BRI AR HH 14 > 2000 i %70 T b
1 5 AR B = 200\ TG TR HE
{55 v B > 2003 7% b
R AE R = 150 3 7t TRl bR i
7K BH 5 7K AE B A = 350 /i 7t TR bR
= IL AR B > 30073 7t PRI b
[ BRAWAE Y 14 = 1800| i %7t THRI bR

Gt R




B h Ak e Sl 2 BTk
I N > 2000[ A
ARG TRPR
EIEsFs5=AUIEi=7 7N
WE R
WL TR AR
Al = 98 98 > 98 % TFHRIbRAE




F LSRR

GURIRIRR

TRbR AR

Hil£F
fRbrE

b5
fRbrE

TS

fRbE

TR AL

fRPrE
]

FEAR B E K
Y&

GUAdE R

7 AR

HETEbR

JFE bR

[NENEED

52 I []

RN

RN

7l
=

IR

iR b e

JEAFERR

s FEbs

I SR 1)

......

P TR

AR TR R

RS S AL

......

i S AR bR

PR SRR

HEAI B E

98

98

v

98

%

iR b e




